
Operating Instructions High Temperature High Bay 

High Temperature High Bay

Fasten the fixture hanger to the 2PCS FLI-150S-V01 (V04) luminaire with 2pcs M12×30 hexagon socket head 
bolt and 2pcs M5×12 screws. 

Secure the junction box hanger to the bottom of the junction box with 2pcs M8×30 hexagon socket head bolt 
and 2pcs “spring pad”.  And secure the junction box to the NPT3/4 lever and tighten with 1pcs M4×10 screws. 

Insert the luminaire assembly that has been fastened in step 1 into the guide groove of the luminaire hanger 
as shown in the figure below. 

Use 4PCS M5×20 bolt to tighten the hanger through the side holes. The cable is butted, the 3-core cable is 
connected to the 3-core cable, and the 2-core cable is connected to the 2-core cable.

M12
M5

M4

M8

NPT 3/4

Linear guide

Insert M5

Installation & Operation

STEP 1: 

STEP 2: 

STEP 3: 

STEP 4: 

STEP 1 STEP 2

STEP 3 STEP 4


